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Note : Answer ALL the questions from Section — A and ANY THREE questions from
Section — B. 4!3
§ECTION A (10x3=30)

Note: (i) Answer ALL the quesﬂoé@

(i) Each question carries THREE marks.

1. If(a+ ib)2 = x + iy find X +y2.

L3

2. Find the maximum or minimum vaf;ﬁe of the expression 3 + 4x + 1.
}
3. If the product of the roots of the equation 43 + 16x2 —-9x—a=0,is 9 then find a.

'%'Ji
4. Evaluate jsec X cosec X dx.

E
(x+1)e” b
5. Evaluate | ——5——dx oh
j cos (xe )

i

6. Evaluatej 5 dx. r~
Xx“=9

3

7. Find the length of the tangent from P(1 3) to the circle S = X2 + y —-2x+4y-11=0.

8. If the eccentricity of the hyperbola ‘E % then find eccentricity of the conjugate hyperbola.

9. Find the mean deviation from the rrgean for the following data =

6,7, 10, 12,13, 4, 12, 16. Eﬁm
10. Find the probability of throwing a total score of 7 with 2 dice. Eﬁ;
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SECTION-B _ (3x15=4¢
Note: () Answer ANY THREE questions. =
N
(i) Each question carries FIFTEEN mgrks.
=
. 2xX+3 o
11. i) a) Resol i i i i
) a) Resolve x+2) @xe ) into partial f:§ctlons. o
~]
b If - }é - - X, y — 2 -— 2 .
) I (x=iy) a —ib, then show that g/a +7% 4(a b )
OR
i) a) Fmd the relation between the roots aﬁd the coefficients of the equation
X = 2x% 4 42 +6x—21=0. o
(&)1
b) If the 6 letters of the word PRISON are%ermitted in all possible ways and the words
thus formed are arranged in dictionarygorder. Find the rank of the word ‘PRISON °.
=
12. i) a) Evaluate _[ = 2x
14c082x 2x ©
.y
in x ¢
b) Evaluate I (“ dx. &
\/1 x?
OR [fe)
L7
?é 1 |
ii) a) Evaluate | ————— dx. o
o O+4cosx ©
dy _ 1+y? 0
b) Solve X Tl %
U\
13. i) a) Find the equation of the circle pass:rr"through the points (2, 1), (5, 5), (s, 7).
b) Ifthe angle between the circles x° + y; —12x—6y+41=0
and X +y° + Kx + 6y =59 = 0 is 45°:1hen find K. l?;ﬁ@
OR 2 '
i) a) Find the equations of the tangent and normal to the parabolax +4xX~y=-2=0
at (1, 3).
b) Findthecentre, eccentricity, coordinates of foci, length of the majoraxis, length
of minor axis, length of latus rectum and equations of directrices of the ellipse
ox + 25y = 225.
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b)

i) a)

b)

o)

5
(@2}
14. i) a) Find the mean deviation about the mean for the following data :
Marks obtained 20-10 | 10-20 | 20-30 | 30—40 | 40-50
10
No. of students ™ 5 8 15 16 6

[#))
Find the probability of drawing an ace or a spade from a well shuffled pack of
52 playing cards. IofHO|
OR Bl
A problem in calculus is gven to two students A and B whose chances of solving

it are ys and % respecc::,tively. Find the probability of the problem being solved

7550

if both of them try indepe‘r@dently.
Find the mean deviation §‘bout the mean for the following distribution.

X, 10 30 50 70 a0
f 4 24:,?, 28 16 8
T
5x +1 »
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b)

i) a)

b)

Time : 3 Hours i
Brssen : Section — A oo eaa&odg;i:aom Section - B o0& J37° Serés

Resolve (x=1)(x+2) into partial fractions.

Solve y(1 + x)dx + x(1 + Pdy = 0.
OR =

Find the radical axis of tH& following pair of circles

x2+y2+2x+4y+ 1 =O£ndx2+y2+4x+y=0.

—
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Find the mean deviation ;Ebout the median of the following frequency distribution.

X 5 7 |39 | 10 ] 12 15
f 8 | 6 |72 2 2 6
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